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U.G. DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations 

Mathematics 

Allied – ANCILLARY MATHEMATICS – II 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Karl Pearson's   and   coefficients. 

 PõºÀ ¤¯ºéÛß   ©ØÖ®   öPÊøÁ Áøμ¯Ö. 

2. What is meant by principle of least  squares? 

 SøÓ¢u ÁºUP öPõÒøP GßÓõÀ GßÚ? 

3. Express correlation coefficient in terms of regression 

coefficients. 

 JmkÓÄ öPÊøÁ Ehß öuõhº¦U öPÊUPÒ Áõ°»õP 

GÊxP. 

4. When  we say that the correlation is perfect? 

 |õ® G¨ö£õÊx JmkÓøÁ {øÓ GßQ÷Óõ®? 

5. Prove that the operator   is linear. 

   GßÓ ö\¯¼ø¯ }mh¾US›¯x GÚ {¹¤. 
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6. Define ‘Edge-Worth’s index numbers.  

 GmäöÁõºvß SÔ±mk GsPøÍ Áøμ¯Ö. 

7. Find  teL t 2sin . 

  teL t 2sin –I PõsP. 
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9. Define odd function with an example. 

 JØøÓ \õºø£ Euõμnzxhß Áøμ¯Ö. 

10. Define Half range sine series. 

 AøμÃa_ ø\ß öuõhøμ Áøμ¯Ö. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) The first four moments of a distribution about 

2x  are 1, 2.5, 5.5 and 16. Calculate the four 

moments about zero. 

  2x  À £μÁ¼ß �uÀ |õßS v¸¨¤zvÓß 1, 2.5, 
5.5 ©ØÖ® 16 GÛÀ §ä¯zvÀ |õßS v¸¨¤z vÓß 
PõsP. 

Or 

 (b) Explain how to fit a parabola to the given data: 

  öPõkUP¨£mh ÂÁμ[PÐUS J¸ ÁøÍÁøμ 
ö£õ¸zxÁx G¨£i GßÖ ÂÍUP©õP TÖP.  
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12. (a) Find y  and   from the following data Regression 

lines are  yx 3 ; xy 34  ; and S.D. of 2x . 

  Ehß öuõhº¦ ÷PõkPÒ yx 3 ; xy 34  ; ©ØÖ® 

2x  GÛÀ y  ©ØÖ®  –øÁU PnUQkP. 

Or 

 (b) Prove that 11   . 

  11    GÚ {¹¤. 

13. (a) Estimate the missing term in the following table. 

x : 0 1 2 3 4 

Ux : 1 3 9 – 81

  R÷Ç öPõkUP¨£mh AmhÁøn°¼¸¢x 

Âk£mhøuU Psk¤iUPÄ®. 

x : 0 1 2 3 4 

Ux : 1 3 9 – 81

Or 

 (b) From the following data of the wholesale price of 

rice for the 5 years construct the index numbers 

taking 1987 as the base. 

Year 1987 1988 1989 1990 1991 1992

Price of rice per kg 5.00 6.00 6.50 7.00 7.50 8.00 

  5 Á¸h[PÐUPõÚ A›]°ß ö©õzu ÂØ£øÚ Âø» 

Â£μ® ÷©÷» öPõkUP¨£mkÒÍx. 1987–ø¯ 

Ai¨£øh¯õP øÁzx SÔ±mk GsPøÍ PõsP. 

Á¸h® 1987 1988 1989 1990 1991 1992

A›]°ß Âø» (Q÷»õÂØS) 5.00 6.00 6.50 7.00 7.50 8.00 
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15. (a) Expand the function xy sin  in a series of cosines 

in the interval  x0 . 

  xy sin   GßÓ \õºø£   x0  GßÓ 

CøhöÁÎ°À öPõø\Ûß öuõhμõP Â›UP. 

Or 

 (b) Find the Fourier cosine series for the functions 

  xxf    in  ,0 . 

   ,0 À   xxf    GßÓ \õº¤ØS L§›¯›ß 

öPõø\ß öuõhøμU PõsP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Fit a straight line to the following data : 

x : 0 5 10 15 20 25

y : 12 15 17 22 24 30

 R÷Ç ÂÁμ[PÐUS ÷|º÷Põmøh ö£õ¸zxP. 

x : 0 5 10 15 20 25

y : 12 15 17 22 24 30
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17. Three judges assign the  ranks to 8 entries in a beauty  

contest. Decide which pair of judges has the nearest 

approach to common taste in beauty? 

Judge X : 1 2 4 3 7 6 5 8

Judge Y : 3 2 1 5 4 7 6 8

Judge Z: 1 2 3 4 5 7 8 6

 ‰ßÖ |kÁºPÒ J¸ AÇS¨ ÷£õmi°À 8 

÷£õmi¯õÍºPÐUS AÎzu uμ[PÒ R÷Ç 

öPõkUP¨£mkÒÍÚ. G¢u C¸ |kÁºPÒ HÓzuõÇ J¸ªzu 

μ\øÚ Eøh¯ÁºPÒ GÚz wº©õÛUPÄ®. 

}v£v  X : 1 2 4 3 7 6 5 8

}v£v Y : 3 2 1 5 4 7 6 8

}v£v Z: 1 2 3 4 5 7 8 6

18. From the following data estimate the number of persons 

whose daily wage is between Rs.40-50. 

Daily wages Rs : 0-20 20-40 40-60 60-80 80-100

No . of persons : 120 145 200 250 150 

 R÷Ç öPõkUP¨£mkÒÍ Â£μ[PøÍU öPõsk  ¹.40–50 

vÚ�® T¼¯õP ö£Ö£ÁºPÎß GsoUøPø¯U PõsP. 

vÚ Fv¯® ¹. À  : 0-20 20-40 40-60 60-80 80-100

ö£Ö£ÁºPÎß GsoUøP : 120 145 200 250 150 
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19. Using Laplace transform solve   teyDD  142  

given that     00,00  yy . 

 ÷»¨»õ]ß E¸©õØÓzøu £¯ß£kzv wº 

  teyDD  142 ,     00,00  yy . 

20. Find the Fourier series for the function   2xxf   

  x . 

   2xxf   ß L§›¯º Â›øÁU PõsP. C[S   x . 

—————— 


